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r(l) = atan(-27{-0})

r(2) = atan(-27{-1})

r(3) =-atan(-2~{-2}H)

r(4) = atan(-2"{-3})

rcs) =atan(-27"1-4})

r(6) = atan(-27{-5})

r(7) = atan(-27{-6})

r(8) =atan(-2~{-7})

Na r(9) = atan( 0 ) 1

r(10) =atan(2°{-7})

r(11) = atan( 2~{-6}) N eniontionl  (0RDIC
r(12) = atan( 2™~ {-5}) )
r(13) = atan( 27 {-4})

r(14) = atan( 27 {-3})

r(15) =atan( 2~ {-2})

r(1e) = atan( 27 {-1})

r(17) = atan( 2~ {-0})




>>mu=][1,0,0-1,0,0,-1,-1,0,0,0,1,0,0,0, 1]

>> |length(mu)
ans = 16

>> s =[ 0: 15]

s atan(1)

atdrityl)

ans = 0.78540

>> pi/d
ans = 0.78540

>> sum(atan(2.7(-s)) .* mu)
ans = 0.63813

>> 13 * pi/ 32

Y TR

ans = 1.2763
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13 S =13 AWy = - S =13 a3 = @
14 N9 =14 o= +) D=1 A= @
IS S(5) =15 ofis) = +1 s(s) =15 dis) = 1
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0 S)=p d()= 4] 0 S)=p d()=+I
| SG) =) al) = 0 |
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Gnventionad only SKp Olfoued
) CoRp)C §-,n3 {4,0,+1¢
0 S()=p  A(d)= 41 S() =0
| Sa) =) o) = -l
2 S) =2 dlr) = o) = I
3 5(3) =3 o (3) = I
4 W=y o= - o) = +|
Y S =5 o) = +I S(f) =I5 o(s) = +1
|4 S) =6 o) = -l
w /] S) =1 d) = -
8 S@) =3 o) = +
y se)y=9 d@m= -l
lo W =p oy = -
N S =1 o) = 4
12 S =y Ay = +)
3 S =13 Ay = -
14 =1 A= 4
IS S(5) =15 Ol(is) = +1







